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A= [[—l LI-D:I |:||-| F= %1 O-l 0 | 0 |:7 | % Choose the best answer for the blank.
ARE2 M JCPt ot B 2E ZICE A E2 M s A0| 2M0|X|RE AR S2017] 1. passengers go through a security checkpoint as a safeguard against
ol ZHuU FHU S2I0| 2M0|ct OS2 27t HED Byt 22 S 26l hijacking.
M Z207P7| 2lsi 28t ZAo|ct (A) Flights (B) Fly
(C) Flight (D) Flew
EIEI0] SAtcedere7t HIZ 210, LT, HFD, THA|= 2HEE HENH= BS0|C & &
2 Adial’, 0]240] YHZE S W= -cede, -cess, -cease, -ceed S22 HPACE 2. Security and devices are widely used to guard persons and property
Je|1 ce-2| YS2 si-S22 HFAHACE against fire and break-ins.
(A) protect (B) protection
7}At MK cedeE HAL 0|42 ‘UHSFICE o =0|c) HE|L ASAS HENH S0|= HE (C) protections (D) protects
aksic} cede 240i| to2] 52 Xl MSEALad-2 £0|™ ad+cede = accede7 | EIC} 2IeH
cede2| ‘k'=0| A0t 22| ‘22 =35}A|7 ad7t ac2 HFRICE TJ2HA accedes] &t 3. Because the attendants seemed to feel bored, the manager decided to resume the ses-
2 ‘UM, =2 ~0| 2 TIC}, S2|8 BSIC FIYSICE 9 2o| & Zh=Ct sionaftera___ break.
e.¢.) He did not accede to my demand. J= L 270 S2|5HK| &Uct. (A) ten-minutes (B) ten-minute
(C) ten-minute’s (D) tenth-minute
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71y, B2, WAL 7P 0|ck (A 2 AE]

e.g.) The mountain is easy to access. 1 At2 & Z5}7| lCt
[Tip] = AR} HAPZL ZE=0] & SMUHE SMoh= 2 o HAks Flo| HAE

0171M CHA| HEAKE ool -ibleE £0|™ accessible ‘A2 7Hs8F 0| =ICt 0|H2 o TAISH= EEAMLI HEE 27| 1 o= MO|X| ef=Ct

Al accessibility ‘&= 7HsA4’0| =ICt

1. [GHAS] WAL + HAPS| B 22| WAL= 0| 2= HALE TASH= YE8AEQl At
1 2| o322 =2 20(8l 2XL. £ o7| 20| E2| HEHE 7IX|X| 4=t
© precede M3I5ICH @ concede LHSICH @ recede HiaksiCt @ retrocede E£E|51EH @ [HA]H|SHI| SHE2 37| ZX[0f CHet OFH CHA o = Hot MY E S5t}
antecede ML} [01#]] security checkpoint £+ Z4A4LY / hijacking H|27| &X|

[HE](C)

-ceed& = QUCt exceed= ‘EHO{7IC}, ZkSIEY, proceed= ‘LIOL7 o}, ZIESICE 2| 2|0|
£ Z¥=Ct succeed? | HESICL| 20| Li2E A2 & MEX0L Helrt suc2 o’ + 2.[GHM] ‘HS HHI'Bk= 2|n|2M WAL+ HAFR E Z0|H 22| HAls S+ HHE
ceed ‘7iC ), 0|1Z40] ‘OlHMIM SEPICY of o2 MZIE|7| 20| “H3B35iel 2| 2jn| 7IX|X| S4=LCt.
7+ LI2A| =|ACh cease= 11 AWM E ‘EUCE JAICE, decease= ‘OfHE JHX|CE JLF, [Hed] ZH| & Hot ZRIS0| SL =52 RIS E=RE AR MAtS HS517| 2lsH
predecessor= ‘™A ZF ALRF & MK, MUK} 2] 2|0|& K|t moict,

[0{&]] property A{AF / break-ins &l
EIEIO] ‘cedere’2} HAE {2 ‘A’ 2 LIEWHE 220 ‘hodos’ FESHEE2 A0 HO [HE](B)
£ DIENUCt WSS SEA X[ Ho{e| Fo| 2 1 h32 55 2ElE d, -ode,
-0dusZ E7|=ICt 71E 20| BHH= Hof= method2M ‘meta §| +0d 2 = HE TH= b 3. [HAM] HAIRL AP HEE= ZREM 22| WAl minute7} th==2| &Ef7t =[0{0f
8’ 2| o|n|E Z¢AH| =t episode= ‘epi |0f| + ode & = 0|0}7| 222 EM2E XU, HE0 Sict. 2t ‘aten-minute break’ 7+ =[0{0F SiCt.
I 287, Je| 1 period=‘peri IR +0d &2 = SHIF| &= A = A7]9] T, &' 2 SE6iCt [Hed] O 22| Xh= B XHS0| K| =8l sh= A 20t 10272 {A F S|9|E MilsPIZ &

AUt
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